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“With our government most people will earn above the average wage”
“Most people have above the average number of fingers”

Could this be true?

An average is a number which represents the group as a whole

Mean
Median
Mode
Calculate the mean, median & mode for these school bag weights.
1)   3kg,  4kg,  3kg,  6kg,  4kg,  3kg, 5kg,  3kg

2)   4.4    4.7    3.5    2.2    4.2    6.7    2.9    4.4    1.5    2.0    3.3    4.9

There are 9 plates at a pie eating competition. 

Each plate can have 9 pies or less on it. 
The mean number of pies on a plate is 4
The median number of pies on a plate is also 4

The mode number of pies is 2

How many pies are on each plate?
Is there more than one solution?

What is the least number of pies needed for a solution?
What is the most number of pies needed for a solution?

Extension:  Can you make a solution with only 2 plates with 2 pies each?

                       How many different solutions are possible? (at least 20!)
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Pete’s Pies



































Data Analysis: Averages




































































Text Practice: 


Alpha 


pg. 417   Ex 29.1


pg. 419   Ex 29.2


pg. 421   Ex 29.3


pg. 422   Ex 29.4








Text Practice: 


Beta 


pg. 410   Ex 29.1


pg. 412   Ex 29.2


pg. 426   Ex 29.9








Text Practice: 


Gamma 


pg. 349  Ex 20.3 


pg. 352  Ex 20.4 

















Finding averages from frequency tables

















